Year 5 Maths Week 2 Lesson 3 Subtraction Answers
Red

358 — 137 =231
269 -151=118
236 -111=125
9077 — 754 =9323
4586 — 245 = 4341
6/19 — 410 = 6309
8760 — 359 = 8401
8645 - 528 = 8117/
1304 - 123 = 1181
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8760 — 359 = 8401
8645 - 528 = 8117/
1304 - 123 = 1181
8235 — 194 = 8041
1757 — 843 =914
5765 — 955 =4810
5623 - 3712 =1911
8123 - 6722 = 1401
9876 — 6943 = 2933
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Green

5623 - 3712 =1911
8123 - 6722 = 1401
9876 — 6943 = 2933
2493 - 1455=1038
5932 - 4418 =1514
7867 — 3048 = 4819
9244 - 4065 = 5179
7084 — 5338 = 1746
7473 — 6689 =784
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